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Objective & Concrete Pictorial Abstract
Strategy
Adding multiples of 50= 30 = 20 \ | i 20+30=50
ten ' r s H H §
. . ' ' E | 70=50+ 20
J\:Fr‘-:l':::ﬂh— [ a1 4’{]+D=ED

Muodel using diemes and bead strings

Use representations for base ten.

Use known number

Children ex-

= 16-1=
facts /‘ plore ways of @l_—;—_"'% Da 16 DD
making num- I 1+ = 18 16 - =1
Part part whole ZO \g bers within 20 |:|+|:|=2-D 20-[ |=[ |
> [ ]+[ ]=20 =20-[ |=[]
Using known facts DEII:I+ I:II:ID — DDDDUD op S = b 2:4=7
) I+ NI = T eadste
+ - EE 4 EE -—EE 0xdo=70
| En EEE
mEm leads to
Children draw representations of H.Tand O 300 + 400 = 700
Bar model
el il T ——
(4

3+4=7

7+3=10

23+25=48

)ILIAAY S



Chapel St Leonards Primary School Calculation Policy
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Strategy
Add a two digit 3 +5= 17+5=22
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Combine to make 10 first if possible, or
bridge 1o then add third digit
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Objective & Strategy Pictorial Abstract
Regroup a ten into
ten ones L
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Use a PV chart to show how to change a

ten into ten ones, use the term ‘take and

make”
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mare than one ten, cross-
irg the hundreds. 14—28

Use a bead bar or bead strings to model
counting to next tem and the rest.

Use a number line to count on to next ten
and then the rest.
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Objective & Concrete Pictorial Abstract
Strategy
Doubling Model doubling using dienes and PV | Draw pictures and representations to Partition a number and then double

counters.
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40+ 12=52

show how to double numbers

each part before recombining it back
together.
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Counting in multi-
plesof 2, 3, 4, 5, 10

from0

(repeated addition)

Count the groups as children are skip
counting, children may use their fin-
gers as they are skip counting. Use bar
models.

5+5+5+5+5+5+5+5=40
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Number lines, counting sticks and bar
models should be used to show repre-
sentation of counting in multiples.
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Count in multiples of a number aloud.

Write sequences with multiples of

numbers.
0,2,4,6 8 10
0 ,3,6,9 12, 15

0, 5,10, 15, 20, 25, 30

4 x3
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Objective &

Strategy

Concrete

Pictorial

Abstract

Multiplication is Create arrays using counters and cu-  |Use representations of arrays to show different |19 — 3 5 4
commutative bes and cakculations and explore commutativity.
Numicon. 12=4x3
Use an array to write
multiphcation sentences and
reinforce repeated addition
00000
00000
Pupils should understand that an array can 'D G G‘G C}
represent different equations and that, as
multiplication is commutative, the order of 5+5+5=15
the multiplication does not a the answer. 3+43+3+3+3=15
5x3=15
3x5=15
Using the Inverse | 2xd=8
This should be x2 =8
tought alongside B¥2=4
division, 50 pupils 8+d4=2
k-umhﬂwthey D » D = D midxd
work alongside Gedx3
_— B4 x
each other. D " D B D
L] =0]=11 e
O-0=0 e

Show all 8 related fact family sentences.
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Objective & Concrete Pictorial Abstract
Strategy
Division as sharing Children use pictures or shapes to share quanti- 2
tes. 12 = 3 =4
Children use bar modelling to show and support
understanding.
| have 10 cubes, can you share them equally in
2 groups?
000 000 000 000
12+#4=3
Division as grouping | Divide quantities into equal groups. Use number lines for grouping 28+7=4

Use cubes, counters, objects or place value
counters to aid understanding.
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Think of tne par 35132\”11*6@3. )pllt‘lt into the num-
ber of groups you are dividing by and work out
how many would be within each group.

20

20+-5=2
Sx?=20

Divide 28 into 7 groups. How many are in

each group?

+ NOISIAIQ S



